Roll Mo, .
December - 2010, Sub: Math, Class-VIII
Time: 3 hrs. M.M. 100

Note: All questions are compulsory.

(Part-A)
Each question carries three marks.
Q.1B  yusing (atb)'=a'+2ab+b’, find the square of 205.
Q.2B  yusing identity or by alternate method lind the cube of 52,
Q.35 ulvl.::{z?}
Q.41  fSelling Price = Rs. 223, Cost price = Rs. 200, then find profit or loss %.
Q.5M  arket Price =Rs. 6000, Sale Price =4800, find discount %.
Q.6W  riteinexpanded form: (5a-2bic)’

OR
Find the product: (p-2) (p-3)

Q.7F  indx,if Oiscentre of the circle.

Q.8F  ind the perimeter of the circle whose radius 1s Tm.
Q.9F  ind average of the first five odd numbers.
Q.10 Areaofaparallelogram is 39 cm’. ITits base is 7.8 em, determine the length of the perpendicular.

(Mart-B)
Each question carries four marks,
Q.11  Find square root of 27225 (by division method)
(.12 Find cube root of 4096,
Q.13 Shamsher sold a watch [or Bs, 840 on which he got 5% profit. At what price he should have
sold it to get 10484 profit.
Q.14 Market price of a motor cyvele is Rs. 36000 which is available at 7% discount. Find its selling

price.



Q.15

Q.16
Q.17
Q.18

Q.19
Q.20

Factorise: 49p-64g’
OR
Factorise: m*+8m-+15
Divide 15x*x-6 by 3x+2
Solve: n{2n+3)-2n (n-5-26
The angles of a quadrilateral are in the ratio of 5:7:8:10. What is the measure of these angles.
Find the radius of a cirele in which distance of a 12em long chord from the centre 158 cm.

Find the area of the circle whose radiug is 14 cm.

(Prart-C)

Each guestion carries six marks,

Q.21 Simarpreet lent Rs. 16000 at 3% annum rate of interest and after some time he got Rs. 18522,
Find time.
Q.22 Infigure, £A = ZB = 90" and £x = 55" then find the value of y and 2.
B
G
-
A
b2 - 5 !
Q.23 The volume ofacylinder is 2310m’. Ifits height is 1 5m. find its radius,
(IR
If total surface area of a cone is 462 cm’. 11 he sdiameter of its base is 14 ¢m, find its slant
height.
Q.24 From the given frequency table answer the following questions:
Marks Obtained | 0-20 20-40 4060 i}-80 80-100
No.of Students 12 13 15 20 110

Q.21

{i) What is the class size?

{ii) What is the lower limit of class interval 40-60).

{iii) What is the class mark for the class interval 60-80).

(iv) Maximum number of students are in which marks group?

A number is 5 more than other. Sum of numbers 15 75, Find the numbers.
OrR

Derive the formula for area of acircle wsing activity.

{Required Material : Glazed paper, scissor, gum, geometry box, cic.)
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